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Question Paper Specific Instructions
Please read each of the following instructions carefully before attempting questions :
There are TWENTY questions printed both in HINDI and in ENGLISH.
All questions are compulsory.
The number of marks carried by a question/part is indicated against it.

Answers must be written in the medium authorized in the Admission Certificate which must be
stated clearly on the cover of this Question-cum-Answer (QCA) Booklet in the space provided.
No marks will be given for answers written in a medium other than the authorized one.

Answers to Questions no. 1 to 10 should be in 150 words, whereas answers to
Questions no. 11 to 20 should be in 250 words.

Keep the word limit indicated in the questions in mind.

Any page or portion of the page left blank in the Question-cum-Answer (QCA) Booklet must be
clearly struck off. :
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Q1.

Q2.

Q3.

Q4.

Q5.

Q6.

“urd # IyFE FEE A Faifus TEEqU Iyafy gete =R g gatERiE
QRS 1 FiagHe 8 |7 gETa arg faftml o wrEda @ 5@ s B e
HIT | (150 wreat & IR dfore)

“The most significant achievement of modern law in India is the
constitutionalization of environmental problems by the Supreme Court.”

Discuss this statement with the help of relevant case laws.
(Answer in 150 words)

“aid & U & ¥ e o faeur A o iR waw w9 @ sty
ATRERT 1 39eTedl &, fohg 3 arferepm swefm 7@ & 17 feomoft Hifvrg |
(150 3rsg] # I &)

“Right of movement and residence throughout the territory of India are freely
available to the Indian citizens, but these rights are not absolute.” Comment.
(Answer in 150 words)

HIYh! TF H, WA H Wk & faehedioror 3 sfift-wt W amaa-afiges t fea
de uiafda foram 8 2 (150 visgi § I i)

To what extent, in your opinion, has the.decentralisation of powér in India
changed the governance landscape‘at the grassroots ? (Answer in 150 words)

TS W1 o GWTIRd % &9 § YA o, 39-Tgufa it yftreer i faaemn Hifs |

(150 wreq] # I Eifre)
Discuss the role of the Viee-President of India as the Chairman of the
Rajya Sabha. (Answerin 150 words)

Y fUser ot @ & qifafyes fFem @ gaurfies e 3§ sada #i am § w@a
T 38! fareht b1 fererem HifSe | (150 w=g) & I §ifdm)
Discuss the role of the National Commission for Backward Classes_ in the wake

of its transformation from a statutory body to a constitutional body.
(Answer in 150 words)

Tfd-2feh AT 1 FASTRAT & AL Bl TTed B & 90 GLhR 3R foft & & Aew
e FH=r i el @ | faae A 1 (150 wedi & IR difv)
The Gati-Shakti Yojana needs meticulous coordination between the

government and the private sector to achieve the goal of connectivity. Discuss.
(Answer in 150 words)
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Q7.

Q8.

Q9.

Q10.

Ql11.

fesgimar % "o § wH uQfueEl i el 1 Ted gaiad & o
feeamm R rfifRm, 2016 Haw faftes cwEs s ® I 8 | feoofi
HfT | (150 weat & IT i)

The Rights of Persons with Disabilities Act, 2016 remains only a legal
document without intense sensitisation of government functionaries and
citizens regarding disability. Comment. (Answer in 150 words)

A& ATH FHAUT ASHT & HIETH & NI Yo SHaedl § UR U WIfaefial Hed 2,

fopeq smeht oot Tfmrd oft € | fevaoft hifsre | (150 o= & I &)

Reforming the government delivery system through the Direct Benefit

Transfer Scheme is a progressive step, but it has its limitations too. Comment.
(Answer in 150 words)

“Gra sfieiept 1 s@t g i 8 1\ qdadt e o oaens H AfieeRt % adHe dehe |
i 1 ftrert <t ferern FIfvre | (150 wreal § I §ifS)

‘India is an age-old friend of Sri Lanka.’ Discuss India’s role in the recent crisis
in Sri Lanka in the light of the preceding statement. (Answer in 150 words)

s foam § w1 femees (BIMSTEE) @b (SAARC) &t g Tsh HHMIGR T
223 A % o9 U GHEA HR SEAEAN § ? 39 AU TS & sHT I &
wre faew fifd % 3ewa 8 T 7L 7.27(150 g # 3w i)

Do you think that BIMSTEE is.a parallel organisation like the SAARC ? What

are the similarities and dissimilarities between the two ? How are Indian
foreign policy objectivesrealized by forming this new organisation ?

(Answer in 150 words)

A fafiftes sfufem, 1951 % smaia Gag star T e % wewt % g7E
3 IR e % fly 6 g @ Reee B | fe s w R fatf
Hiifta wearsh % Fateq o g Sifva B o e 2 2 39 ke F feg ffea o
1 HH-HT TR 39y 2 ? 91¢ fafemt o1 gy e | (250 wsgt # 3w i)

Discuss the procedures to decide the disputes arising out of the election of a

Member of the Parliament or State Legislature under The Representation of

the People Act, 1951. What are the grounds on which the election of any
returned candidate may be declared void ? What remedy is available to the
aggrieved party against the decision ? Refer to the case laws.
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 (Answer in 250 words)r 15
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Q12.

Q13.

Q14.

Q15.

Q16.

Q17.

e g R wRed 3 s 6 st T w1 R AR | R

Uy W o TSt grRn srearenit % g e i uar i fod=a i |
(250 vreal # I i)

Discuss the essential conditions for exercise of the legislative powers by the
Governor. Discuss the legality of re-promulgation of ordinances by the
Governor without placing them before the Legislature. (Answer in 250 words)

“qra A TP TRfae o FEER % 9y § 8, St & o Tsu-wEdal #
gg ® |7 feogoft hifSw | (250 wrsgi # I i)

“While the national political parties in India favour centralisation, the regional
parties are in favour of State autonomy.” Comment. (Answer in 250 words)

e 3 s 35 T 3 Bt 4 1 e w1 SRS s i |

(250 wsal ¥ I ifo)

Critically examine the procedures through which the Presidents of India and
France are elected. (Answer in 250 words)

HGY ATEAR-FlEdT % IgHT & Ik 8, WA & fated A& 6t qfient &1 fod=m
HIRTT | (250 wregt & I &)

Discuss the role of the Election Commission of India in the light of the
evolution of the Model Code of Conduct. (Answer in 250 words)

HATHR Ao & Sfife wra B e & dfd it o et 61 dar % fog
EehIfa 3 SUTTRY 6 Pt aio Y TevTehar & | == HIfT |
» (250 vrsgi | I Eifore)

Besides the welfare schemes, India needs deft management of inflation and
unemployment to serve the poor and the underprivileged sections of the
society. Discuss. (Answer in 250 words)

T A9 30 7d ¥ Tewd 7 b foepra &g gran sifremon @ sedt fafean fomsma wfsmn
7 aeRes gt % Tawa Y "erd ® 2 39 I % ifue = fag il |
(250 3rea1 § IR EifS)

Do you agree with the view that increasing dependence on donor agencies for
development reduces the importance of community participation in the
development process ? Justify your answer. (Answer in 250 words)
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Q18. Thefl e & e & 9N § Sk 3 fopu femn, =t <t fien & Sron-senfa

Q19.

Q20.

ugfd & dada # fyees it ifard st e o stfoeer stfafam, 2009 smaaia

2 | forgetwor Shife | (250 wsal # 3w &)

The Right of Children to Free and Compulsory Education Act, 2009 remains

inadequate in promoting incentive-based system for children’s education

without generating awareness about the importance of schooling. Analyse.
(Answer in 250 words)

12U2 (¥Rd, $9Fd, 9% d NG iR Og® sy W) aggd fves
Tt # wia 1 feafa =t fop wepr wvTaRa s ? (250 wea) 6 I &)

How will I12U2 (India, Israel, UAE and USA) grouping transform India’s
position in global politics ? (Answer in 250 words)

‘wee ol AW Wl Td g || YIAeHifd & med #, e srwidw W=t d
SreraTg aiadd i fown § 9ra it seerdt Hifa #1 aftred avig il |

' (250 wregi # 3o Eifime)
‘Clean energy is the order of the day.’ Describe. briefly India’s changing policy

towards climate change in various international fora in the context of
geopolitics. (Answer in 250 words)
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